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The PSAC Tamil Examination paper 2023 consisted of 9 questions. The Tamil assessment was
focussed on the following areas:

1. Reading Comprehension (40%)
2. WIriting (30%)
3. Grammar and Vocabulary (30%)

It is to be noted that the percentage of pass for PSAC Assessment - Grade 6 (2023) for Tamil is 70.60
% compared to 2022 which was 74.76 %. 551 students were examined and the number of candidates
who passed is 389 as per the performance statistics of PSAC Assessment of the MES.

Question 1A:

This question was based on the candidates’ knowledge of common vocabulary. The task was related to
the labelling of pictures 5 marks were allocated to the question. Nose, bicycle, hat, elephant and
mountain, are the words that had to be given in the specific language. The high achievers and the average
candidates were able to give the correct answers and in certain cases though they were able to identify
the words, they wrote them with spelling mistakes. It has been noted that the low achievers had
difficulties in writing the words correctly and some candidates did not attempt this task though it was
testing common basic vocabulary which the candidates have learned in lower primary. Some of them
gave the English transliteration instead of writing the words in Tamil which is not acceptable. Others
wrote the words in Kreol Morisien, French or in English. Some students instead of writing the word

nose (epds @) in Tamil with the correct spelling have written (wp&@). Some of the candidates wrote the

words related to the body parts in Tamil. Basic vocabulary should be taught again and again to the

students. Lots of exercises such as dictation, choosing the appropriate words can be given as practice.
Some errors committed by candidates are as follows:

Correct Wrong Words  in | Transliterated | Words in | Wrong words
word spelling Creole version English/
French
@5@ (g)g;@, nene @LT)GLT) nose 'I]')!Téii@, DS,
(y)f—na;.@’ gimw, ’5566:6—'-3
PDI%S ) )
Qumil, 2 L 6V,
(PSHLD
Llgleuerstly, | ewFda5lev ) ) bicycle 2 [hgl  euewIiy,
N F G 6T D FH6iT 2 enT(h) Uy,
QUG LY LHl1g 61 6%TLY Gumbsl,
LI 1q eueudTLY., aflLomesTID,
Llgleuedrig, SLILISV
Ll 16u6RTLg
L gloupsl,
psusmriy,




Lilig fbig.,
Llgl2_evoTig

g Clpmidl, €apo ) hat BHEM6V
€7 JNTIN
@Lmri,
Gz L,
Cgriiy,
@i,

Cumiig

e WIT6STLD, - - elephant 6160, L0,
éléphant

wmemul,

Geor, BTl

yewer, &TL(),

LI IT 63 630,
WITEdTIT U,
96O, aflsmev
wimrGlesriis,

wremerr

LO6»6V, ST ©\LomH 6% 63T mountain A mI, LOE®LP,
montagne
@6&"@_’ LD[T“)GU LDSZD!}), 6)?@,

&HMTL., LD6emer, @SZDGU

LOTLD

Question 1B:

This question assesses reading comprehension at a basic level. This was done through a task which
requires candidates to match a sentence to the corresponding picture. The question consists of 5 marks.
Most of the candidates were able to attempt this task by scoring the maximum marks. Some candidates
failed to complete this question; only four answers were given. Candidates should be trained to read and
understand the meaning of sentences. It has been noted that many candidates gave the answers without
proper understanding of the actions in the illustrations. Drilling tasks based on this model must be given
to students frequently so that they are acquainted with this type of task. Oral as well as reading exercises
as well might help the students to decipher the words in the sentences.

Question 2A:

Knowledge and recognition of proper grammatical structures were tested through multiple-choice items
which consisted of 10 marks. Many candidates were not able to make the difference in the case markers
and some candidates made some mistakes due to lack of proper reading, proper guidance, proper grasp
of the grammatical items. Grammatical items such as tense, numerals, subject, case markers, adverb,
verbal participle were tested in the paper. So constant explanation, drilling work, different types of
exercises to test the same component, remedial work and revision would be helpful to the candidates.
The candidates should be guided to give the correct answer as far as possible, and they should have a
mastery in grammar as this is a vital component while learning a language. It was also noted that some
students did not attempt this question.



Find below some ideas which could be adopted to address the grammatical errors that are being
committed by candidates:

- Basic explanation with concrete and easy examples. Use from known to unknown principle.

- Use words that are easy and familiar to the candidates.

- Give many examples and guide the students to provide the examples themselves.

- Give them a list which they can keep with them and which they can consult whenever they are
having difficulties. Guide the students to learn visually.

- Prepare flash cards, teaching aids, technological tools. In certain instances, ask the students to
prepare some flash cards and this will develop their skills in the language.

- Prepare activities in which all the students are involved in and see to it that learning has taken
place. Let someone lead the learning process and this will be more student centered and peer
learning might take place.

- Consolidate what was learned in class through assessment, questioning, exercises.

- Do remedial work; give explanation again and support with exercises.

- Give proper feedback and incentive to the candidates. Develop the affective domain.

- Be a facilitator and give proper guidance so that the students learn with ease and confidence.

- Pay attention to the learning difficulties of the students and find instant solutions to motivate
learning.

- Use inductive and deductive methods for the explanation of the grammar.

Question 2B:

This question assessed vocabulary in context, through multiple - choice items. It consisted of 5 marks.
Many candidates were not able to attempt this question. It is noted that the vocabulary task includes
adjectives, verbs and nouns. Situational contexts can be explained to the students with proper use of
vocabulary. For item number one many candidates gave /& wmui as answer and question number two

they gave the wrong answer srapglesrmeir as they did not read the sentence with attention so as to give
the correct answer.

Question 3:

This question was on reading comprehension at an intermediate level and the candidates had to locate
information from the comprehension passage which was based on a letter format. The question consisted
of 10 marks. It is noteworthy that many candidates scored the maximum marks in this question. But still
the candidates should be trained to identify basic information in this task which is very much scoring.
The students should also be encouraged to attempt all the questions. This question tests reading with
understanding, reading between lines. Mant students struggle with higher order skills. Therefore, many
reading books should be provided to the candidates so that they can read extensively. Thus, developing
many important relevant skills. The candidates should understand the flow of the letter, advertisement
and the information that follows in sequence. It has been noted that the answers for certain questions
were irrelevant as the meaning of the words in the sentences was not well grasped by the candidates
especially for the following items:

o . Thbs SlHMS L 13 B)bs alleribLirid g,qurrﬂésasﬂul'_l_gj?
5. bL_6UIG SN HSHET 6ThHdh CHluilsd HewL GlLimp?

Fr. BT 6763 (PHBWILTETGI? 6p(h HTTEWTHMD 6T
9.  BmI&6T eVhg Carerer eflpolesrmey, wrfl b e9iwd) CaL s Ceueisr(hid?



It has been noted that some answers were incomplete and only part of the answers were given. The
candidates subsequently did not score marks and, in some instances, it was noted that where only part
answers were given, these were wrongly written. For example:

Caald @1 LFeVTsH THLD HeVeVGl eT(H CUTETD allewL &6 Sriiul (hsrersr.

For item number 8 many candidates gave as wrong answer: &) mLog) sumessfluflL_Lb

Questions 4A and 4B :

Candidates’ ability of reading comprehension was assessed through their understanding of an extended
passage which was a narrated one. A range of reading skills were assessed in this question - locating
explicit information, guessing the meaning of unfamiliar words from the context, recognising
relationships between persons, actions and events, following the sequence of events, inference,
identifying central themes and ideas and providing a personal response to the text. This was done
through multiple choice items 4A which was on 5 marks and open-ended questions, 4B which were on
10 marks. Many candidates tried to do Question 4 A but did not attempt Question 4B. Although
candidates tried to attempt this task, many discrepancies were noted in the answers of the candidates for
Question 4 A. They are as follows:

- encircling of two answers;

- inability to give the correct answer;

- noencircling at all;

- answer was written in the blank space instead of encircling;

- the question was not well understood by the candidates.
This type of exercise should be done on a frequent basis so that the students are familiar and at ease
with this type of descriptive reading comprehension. Basic questions should be given to them leading
to complex ones. The candidates should be guided on how to answer questions. The sequential trend in
any passage should be explained to the students so that they can use this technique while reading and
answering questions. Reading of story books is encouraged. It has been noted that many candidates did
not attempt this question correctly due to misinterpretation of the flow in the text. The wrong answer

that many students gave was: jeusir eflwirglwimis &)mbarer.

The following was noted for question 4B:
- many candidates did not attempt this task;
- they did not understand the sequence of the text and irrelevant answers were given;
- errors have been noted while writing the answers. For example- smer, 9 m6ir, &L, Sjeuswrssr;
- for item number 4 the correct answer was not given. Instead of writing the appropriate answer
Syeuar swLwled(Bbagl sph CuThHewer eT(hGg this was written =g spm Gumibewio sT6dTM)

uriss8urg Afsas GsTLmidlerrsr leading to loss of marks.
- many candidates did not attempt the question number 5 as they still do not know how to answer
question with the marker eyesr.

Question 5A:

This question was based on re-arranging jumbled words to form proper sentences using correct syntax.

This question consisted of 4 marks. Most of the candidates tried to give the correct sentences but still

some candidates did not do well in this task which assesses writing at sentence level. Many types of

sentence structures should be taught to the candidates starting with simple, complex, and compound.
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Regular reading of these types of sentences will help the students to grasp the structure of sentences.
Moreover, emphasis should be laid on order of words while explaining comprehension passage or while
writing sentence structures. This type of exercise should be given frequently to the students so that they
can practise. This would also help them to write sentences and essays correctly. Oral exercises as well
will help in the construction of correct sentences. Errors noted are as follows:

- mbhgl wewlls @ af L Hd@HH OlFsvausT FHLbLeTTsT.

- (W5 @bg C1FeLeuT S (HETLNETTET LD6WT S (3.

- b 2 _anTeneud QWM UIle) FeWeUUITET FEMLOWIG) FeDLOEHABIMTII.

- 15 FOLWV HemMUilel 2 _6NTEMoUF FreMEUIITET FE»LDEHIMTII.

It was noted that the candidates did not write all the given words to form the correct sentence. As one
word was missed, they did not score the marks correctly.

- OlFsveusit Wb aflHH&HH F(HLbLeTT6dT.

- b 9ewmuileD 2_6NTEW6UF FeMEUIWITET FeWLDEHIMTILI.

Question 5B:

This question required candidates to write sentences. Knowledge of syntax was assessed through a
sentence completion task. This question consisted of 6 marks. Many candidates attempted to complete
the sentences, but it was observed that there were a few grammatical and spelling mistakes in the
sentences. It was also noted that candidates still do not know how to use link words. Though link words
had been given in the sentences, they added other link words again and the meaning of the sentences
changed. Therefore, grammatical elements must be reinforced through practice tasks. Order of words
in a sentence should be taught to the students. Additional reading must be done by the candidates. Some
examples of good sentences are as follows:

&. CFsvail {TeL PlewevwiGgidHF ClFeTMI

- BIVSM6T THSSILI LG &SI DT6T.

- 2 Breovevs Coy il HsGs SHoysprer.
- FITETEYIS & 6TH M6V 2 I Hm(HBImTeiT.

- LISV [{T6VSHEMET 6)ITHI& 35D 6.

- O|6UGIT H6BT [ITEW6VLI Lilg I MTeT.

- RIMT LPHTET H6MSH HITEWVLI LILG5HST6T.

o .. wuerafl psHev Brerflsy

- BTeT LBeLD @)6dTLIda L6016V () (HdhHGmedr.

- LOTETEUT&H6T LIV LB LD &pFAwimil () HeHSmTissi.



- BredT 67651 YLoLomGeur(h) LsiTaflulledHHEH Beir afL B &Hd (oL Gevredr.
- LOTEWTEUT&H6T LIGVT 6U(HGSLOTIUI () (hd s MTTSH6iT.

- [BTEYILD 6T63T HEWTLITSHEBHLD HIL_60l6L &TeVLIBG ailewarwim(BaslCImmid.

- BTEIT 6p(1h FrHBHLOTET D emL_ 6wl Gmedr.

B.. Az CrrHslev wewlp GlLIIW|LD, H|F6UTT6V

- HLOVT H6T STHHTeYewL W T (hH@GHL CUTaHImFlevemsv.

- BTEYILD HEWTLIEYILD HlL_69l6V Lihg ailswerwim(hsmglsvenev.
- OrfAuws BT 1360 LIV LisTaflEHsT @)eVemsv.

- BTBISET SL_NBewTuiled (i T (hHEHH H(HLoLIGeTTid.
- [BT63T 6TEOT BLPHTEVT LOEWLY I 6wt a G medr.

- IIOLOT 63T GHewLeww 6T(Hd%H Causwevd @t Gurdpmi.

Some examples of sentences which were not well written are as follows:

- eueitelfl {6V BleweLwGGIdkGF C\FeTmI, HTstT CLISSTT 6T(RGHH G 60T

- eusitelfl {6V BleweL WG Gk GF C\FTMI, @) (HIHHDTeT.

- eusiterfl {TL BleweV WG FI%GHF CIFeTMI, LiLg & DT6dT.

- eusitelfl {TeL Blewev GGk EF C\FeTMI, CLITH MT6IT. 660

- uerefl WpsHev Brefled Breir HpasTer LsTerlullsy CLTEEmedt.

- usererfl WpgHev Brefled Brer lseyid & pFFwT ) (HdHS D Teir.

- userefl WpsHev Brefled wrewrouiser Lsvi Lfla @) (HSE DT SHeT.

- Adflgl CHrsglev wewip GLIIL|LD. HBATTV 6T6dT HIOLN T (Hds @ @) (HHS MTedr.

- Aflg Crrsdlev wewip GLILILLD. YBETTE HTewardE LisTelrl (3)(HLg60em6v.

- Adflg Crradlev wewi GlLILD. HFHTTEV a6t B)VeMm6V HeWL &L GLITEmmedr.
Some examples of incomplete sentences are as follows:

- userefl pHev Brefled sph HTeVID GLoGBTEMLOWITUI ..........
- ueiref] W ed Brefled Bresr wEpFAwml ..........
Question 6:

Reading with understanding was assessed through a Cloze Text and candidates had to fill in the blanks
with the given words. This task assesses reading and the general use of the langauge. The candidates
had difficulty in inserting the correct words as the understanding of the text was poor in certain cases.
So, the proper words had not been used. The average candidates tried to do the question correctly



whereas the low achievers used the same words in different places and some of them did not even fill
in the blank spaces. Some observations were as follows:

- A few students did not know that at the end of a sentence, there must be either a verb or a noun:
consequently, g 8s541 was not well used.

- There was a confusion between these two words: Liwi, @)L (b

- Some candidates were not able to differentiate between the words Geusssr(pib and wpig uirgy).
These words were not well placed in the text.

Question 7A:

This question was based on assessing candidates’ knowledge of grammar and spelling in context.
Sentences containing grammatical and spelling mistakes were set and candidates had to correct these
mistakes. 5 marks were given for this task. The high achievers completed this task with full marks
whereas in other cases it shows that the candidates are not confident enough with this type of task. Some
mistakes which have been noted are as follows:

L L med, Ut iqufley, Libgi, st (B

allewearwimig T igeir, allewerwim(Bsprer

BIT6VE 6T, HIT6VMHIS 6T

6T6UEUGVEY, 6TEURIGITA, 6TEURIGTE)Y, 6T6URIT 6

CuBhs, CuBSS, CL®BS!, 2-bsI, GuBars), CL®BHG
Question 7B:

This question was on assessing knowledge and application of word transformation rules in the language.
Sentences were set and candidates had to complete the gaps by carrying out the correct transformation
of the given words. This question consisted of 5 marks. Every year this type of exercise appears in the
examination paper but still a few candidates have difficulty with this type of exercise. Some candidates
do not know how to use grammar appropriately. Note that grammar is the main element in any language.
Candidates must be trained how to use grammar appropriately. The adjectival participle, adverbial
participle along with other grammatical items should be well explained to the candidates regularly either
through inductive method or deductive method. The same can be consolidated through the use of
teaching aids. Note the following mistakes which might be avoided through a lot of drilling exercises
and remedial actions:

- BrienL, Briigse0, Br(huilsy

- HSHTET, HHSLO6V, HFrdbsLD

T B1ES, 5195531, G115, GG, GYESID, G5
- Gousmer

- Qainw, GFig), QFiiwrsy, QFiiL, CFiiss

Question 8:

This question was set to assess candidates’ ability to use simple cohesive devices or conjunctions to

write sentences. The task was based on pictures and given words. The different sentences must be

linked together with the given words to make up a coherent short story and this question is on 10 marks.
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A majority of students have written good sentences in certain cases. Thus, showing their good command
of the language. However, others have written the sentences wrongly with spelling and grammatical
mistakes. Candidates must be trained to write grammatically correct sentences and use appropriate
vocabulary. Some sentences that were wrongly written are as follows:

(1 BIT6IT- HL_D&HDT

s2(h BIeT 67607 HHOLSCHTH L MBI G CUrdmriser

§2(H BTET HLPH&ILD H6T GHHLWPLD SL_DHHewT CHTHCmTiD.

§2(H BITEIT 63(1h HL_M&HENT.

L woBLITg) - 2_emTey
LW DCLITE jeuisHeT 2 _awrey @) (HoHSIMTTH6T.
BTBIGET WL W bCLTl 2 _enTey GlFWISIHTTH6T.

SUTHET WL WbGBLITH| 2_650T6FMT6dT.

FleO\reTm] - ewLp

Fle6lraTn) WL LS MG
SHleClretyl @)g) WY F)HSSDS).
9I5| SleTeTn ewLPF M.

aflewreurs- $BIS6T O\LIT(H6TH6T
BTBIG6T ailewTeUTs HhiIG6T LT (HL &6 ) (HdHP 6T M6vT.
allewreurs Hmiser LT KL &S6T GUITSIDTTSH6T

B3 allewTauTs speiT Hmi%6T GlLIT(HL BH6IT.

senL_Fuflev — af ()

HwL_Fuilsv euismst af 1960 CUTSIMTiSHe6T.

semL_FAullev prmISHsT 6F ()@ S (HDLNSIEDTiD.

sewL_FAullev af () FHmasIpriser.

Some good sentences noted are as follows:

§2(h BTET HLPHET GHHUSSTCIT(H HLMNHWTHGHL CGUrdlmrer.

DIUTHET SL_NDBHMTDUW WL _W[IDBLITF FeweuiTesr 2 ety FrLL(HF D Tidsei.
FleGlrerm jeuiser 2 awrey FriLlBLEUTE H6aTds WL ClLiiug C\HTLBIGHS DS

2 I Gt 9jeuirser Hmiser GlLmHLsewer sT(hdgl p(h ewLuiled allewrauTs emeudssnriser.
semL_FAulled euTsHer aumsHSLTil @) MHbg 6T (D% Gs Sl(HLOLSDTTH6T

9



§2(h BTET LITEVS)ILD 63T & (HIDLILPLD SL_NEHeWT &L CUTSIDTT 6.
9BICH ewLujbBUTSH| HeuTHer 2 _ewrey FTLLIL CSTL BIGHIDTTH6IT.
Flereitm wew ‘UL L’ eTeTm GLiwg QST BIGHHE G-

allenTeuTs jauisHer BiIs6r QLT HL H6T s»Luiled eweudhFmTigsi.

s Aufled HeuTHer euhbsHIL 6T aF L (HdHd S (HLOYSIDTTH6T.

s(h e CHeusy|d jeusnIewL_w &HOUSST(HLD GLISVTT &L NHEHWTdhEHL GUTETTT 6.
9 BICH WL ujbBLITEH| HeUTH6T 6(h FEWeUIWITET 26876y FTLILIL L TTd6lT.

FlieCFedTm) H63THS ewLp GlLiiuig Ol TL BIFlwig].

DIUTH6T (1 FnWL_UIl6V HBIGET CILIT(HL_FHEWET 696155 T T 6.

s Aulley euiser af _(hdh @ euHSSHLOTIUIS S (HLDLNETTT 6.

Question 9:

The ability to write a coherent piece of continuous prose was assessed in this question. This was done
through a guided composition (canvas). It carries 10 marks. The high achievers and average ability
candidates fared well. However, a few did not write as per the instruction given and wrote a long essay
with irrelevant introduction at the beginning of the composition as was done traditionally. This practice
should not be encouraged. Many candidates leave out this question and it shows that have difficulty in
the use of productive language. Writing, as such, is known to be a higher order skill.

This paper was a scoring one as it caters for mixed abilities but it has been noted that relevant drilling
exercises should be given to candidates so that they get more practice in writing the language. The low
achievers have tried to work out this paper but still much encouragement and guidance to score the
required passing marks should be given to them. Candidates did not know how to write basic words that
were taught to them in lower Grades especially in Question 1A though this is being highlighted for years
now. They were unable to use the vocabulary and relevant grammatical items in the construction of
sentences. Some candidates’ writings were illegible and some of them were not able to recognise the
difference in the alphabets. The students must be trained to be self-dependent in any examination setting
and be confident in writing the language appropriately as stipulated in the National Curriculum
Framework. Another point to be noted is that much importance is being given to lifelong learning. It
has also been noted that the trend is continuing with the low achievers who are not making enough effort
to work out the paper. In certain cases, only the multiple - choice questions were answered and the open
- ended questions were not attempted. It has also been observed that some candidates make the effort to
write in the paper but still they lack the required competence to score good grades. At the level of the
class, much consideration should be given to all the candidates so that they learn the language properly.
They will thus feel secure and this would build a trust in them. Revision work and remedial work should
be maintained at school level, thereby encouraging the good performance in the subject.
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Samples of Essay PSAC 2023

s Heor 1

B)siTewm @ Fevflhalpsewin. Gleuulley BTHTHS HTUISIDGHI. BTN Q(H FHEWH BHTET. {sH6vTT6V
Usgl Wwenfls@ Brer sTer GHBHUSCHTH FhewssGHl CUTHCmeT. HBIGCH EHEHET Fn L L LD
Fn L DTl @)(HESHDTTSHET. 6ThBIGLD FHHID @) (HSIDSI. USIBTHET LIVT CUDTEIT 6163dT6vT
LILPBIGEDETULD HTIISDSHeeTW|d allDBIMTTH6T. 6TedT YDLOT H6T wHUilL @h Gluflur FnewL_
B)m&HF DI, Yeui SHTSVlGemer auTBIGIDTT. Hleblrerm @ slpsui ermisefllb 2 gall
CaL SIPTiT. Heui HTiisDPlsener eUTHIGLD LISNTLD (B)6Vemev. BHTT6V LILIT F6dT 6w Liuiled (bl
uewTld T(hdbg! FHlpauhdbEGHds CaTOSDIiT. Hlpeur sredr GLiLTeydh@ “BoTW WHPFAwTsF
QFrevdmri. “oig1 @ Bvev Geuswev” sTedimy ST YLiLTalll b dmmiSnTi. @)eTm @
LOM&HS (LPLE TS BHT6T.

This is a quite developed story with accurate syntax and accurate vocabulary. It lacks fluency and is

organized by giving only a flow of the events without much elaboration. Note that there are some
spelling mistakes as well as grammar mistakes.

sL_(hewr 2

®)sttm FesflabFlpemin. HTeVD YHewWTl 2 63T(h). 6TedT GlLwIT Lilewm. 6T6d eI LiGgI. BT6T
QDD SISV Ligdhsleim wrewtall. @lerm BTer ster  GOHDOUSCHTH FHewdHdhEGL
GuTHCmTib. Briiser 2 hgl sussriguiled syt CUTHCDHTID. HewL_HHe L Gt 6T6iT HLOLOT 63 (1
Quflw FmewLeww 6T(HHFH LIVAUMHSWTRT STUISDEHmer aurBIGSmTT. LUm@ Brer Ly
LILPBIGSENET 6UTHIGHBCM6ir. Hlieblrsirm sp(housit 2 el Casl Fmmesr. ChImisLleHSTLO6) [bTHI%6T
Sjouemarll urisslt CuTSlI@mrib. euet FmisHdlds G allphHTe. Y BHOTTEY 6TEd HLILIT
Ijeuenerr BMs 2 _gall GFuisipmi. Ln @ jeueT s brhaTedluller Gosd o I STHSIMTT. Sjauesr
BT STV STWID LBS MGl HEVTT6V 6760 YLILIT 6p(H HWTewl T L|L1g 6UTHIF] 6UsH|ddHd
CBTHSHS T, HYLIyMLD BTBISET 6T (hd%HS S(HLDLHSEmTLD.

The essay contains unnecessary elaboration at the beginning. There has been an attempt to elaborate but
it was not to that extent. The sentence structures were simple and complex as well. This is an organized
and coherent story.
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sL_(hewr 3

§2(H BT BHTedT 6767 GHHOUSCHTH FhewddhGHLU CUITHCmeir. HBIGSH dH&H6T FMIFMmILILITII
B)HEBFBTMET. “sT6dT HTIBBFHEWET 6uTBIGSIDTTSH6T. R)BICH 2 i EHS:E) HhBTaTuLd &b
HleWL_&HSITDST 6TOTM (1 UK BT 2 THES HSHHDTT. wHdh CHL_(h eT6dT Ybor HmGCsH
RULICUTSIDTT. eui L SHTiisPlsenear surwiGHmri. APlg CrrssisEl DG, HTBIST
T Hd&HS SHySCmTD. Fleblrerm pmeust 2 _gall Csl Fmmer. jsusit GlLIwT GlFsVeu6T.
“UenToHBLD, 6T6VTd @ G LIFl. QLeITTeV 6T6ud: & L1 LIHTLD (B)6Vemev” 6T6dT M) GlF6VUGHT 6U(HHSLOTHF
QFrevdmrer. bs Chrsslev stedr lium s Ul ar surmi@dpri. Up@g Seui bsL
‘U ar’ QFvaugyid@d ClaThHSEmTi. ClaFsvsusit Waseay wEpFfwmrii @) mabSmrer. “Berml,
[BTE3T 6T63T () ITLISHEWSHIF CIFTOATDHEOTT6V ...... Wrgwrgy” stedtm Fmieusit GFTeVFH MT6T. HewL_Flulley
BTBISET 6T (@ waIPFAGWTH S (HLDYSEMTLD. BT HBIGET (1 H6VEV BTeweTd HLPl&HSIEmTLD.

This sample is good. At the first instance, the candidate started directly with the elaboration of the essay

using a range of vocabulary as well as different sentence structures. There was consistency. Command
of the language and coherence were noted. Elaborate and well-developed story.

sL_(hewr 4

@ssrempE @ Follsdlpenw. surerdHFlev  @Gflwer ubHGCUTL STslpg. ‘James Toolsy”
QIFTHISL LsTafluiled Lig&HaileTn QEmriD S LTenTeuTaTTaS W HT6T 676 &HILSEHT(H (H
Quflw FnewLujd LTIPLD THGGHI Fhewsbdh Gl CuTHCmeir. HBmIGCH WL HHFID, Y LDLOT
LISVEUEH ST SHTIGDEemer eurTmidw L@ bTmiser LUSTISensd FrUbOEIDTT. Sjemeu
L& 6D FHeweuwiTearene. SN GL LIm@, briser af (& @& (LB EMTLD. HBiseT 6% (Hallsd
BLESGHLCUTSH Sleblrerm spmeusit 2 sai Csl Smmer. CHIBISSSTLIO) BHTHBIGH6T f66N6UT
Cpred] @OHCmrib. priiser Cr allwiil). 9ausT H6iT HTedley HTWIDLI(HBIMGHI. STWID L' L
QILHIlv  @TSHD  uBHBMG. 2 L Gar BTHBISET HeUHT LiGHHDV (@) (HHHeTD
L (hSSIMULEDTH G, YWYsHG CuUTHICDTD. 9BICH wWHSGHIUT Heuswesrd GarTdlobmir.
LD Sjeui sTwid Ul L @) S5V WwHBHH CUTHSIDITT. spHEUST 6THIGEHS S BHeTH]
ClFTevasIPTeT. HewL_Flullsy Brmiser afl (Hd@&s SIS EmTiD.

This is a well-developed essay with accurate vocabulary. The sentences have been well designed with
use of grammatical items. The story is an organised piece of writing with appropriate elaboration.
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&SL_(hewr 5

@erm FellsSlpenw. @Gllwer ‘B8 & STWLSEDG. S QRH SBIS ewildHevesr GCLimev
Hrsrflsangl. sTHH G6h Geb f#Sngl. Q&I RB FHeOS BT6T. HresT st &HDUSESTEH
FHhewad G CUITHCMET. 6T6T YOOT LIV STUISDIEHEDET eUTHIGHE DT, DYeSTT6L LT LIsD
FHEWOUIWITET LIPBISENST UTHBIGI DT, Sleblyerm @ Slpeust 2 gaill CasldSlmri. “erssrer
AossH60 SrHHT? K eyer CxibLll CxibLll Gupdlmmi? erermy liur Csl Slmri. “pm Gl L
SmLsir sreir Liswtid £ HEADTET.” LIS HUGT STOTEE LIS SeTafldsnTesT sTaimm STEST
mpIADTE. STHET @oomw GuTew BERGEADTT. Sui sTEL @rEsHL GY GY
O&TLHFMGI. ISOTTD BIBIGEHL SHTHSHTOYD LO(HSGHIUWeaTHGL CurdGmmn. Crrid
SNSHTION SUILT STaIVTSMmaT HPsANTT. CETErFD CBrégiIsE@l LIng STaeissr
FlpLewerts UysSnrisesr. Ao priseps@l LDG, STSHST BOWTES @) HSSIDTT. Hjeui
611G Ehd & o Gluflw ufle QarhiEHEpTi. Um@ jeui sThSEhE @ BT GlFaISSHIEDTT. @)
LODES PIGWTS R BT

This sample was well started but with unnecessary elaboration. The story was well defined with good
command of language. Variety of sentence structure as well as appropriate vocabulary were used. It
was a well-organized piece of writing and there is coherency till the end.

&L_(hewr 6

Blsrmi ssit Slipewio. Gl @b CluTgl allQepewm Breir. Clouullsd STiIsIng). sTeir &HDLSCHTH
FHewBHE &L CUTHIDTIHET. BTHIGET LIV SHTisPEemear eurhiGaslGnTiD. SlieClrerm & (Heusst
2 gai Gl L6v. 91BLTH Ceusmar 2_anrey ()sVemev. Hsvsw Gouswar HTenILd 616 & LIGHDT(HLD
2 gall QFLSDTIS6T. 2 L Car BrBISHsT PheusTGarr(® Lo(HHgGI6uenest CLTAEIEDTD. HkiGsH
Q(H (HSSHIUT §@(HEUST LTTHMITT. HewL_Fuilsh 9(6u6dT HTBIS%EHSE) &S] BT dn M) T6T.

This is a very basic story with no development. Errors are very noticeable. No coherency and disjointed
writing.
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sL_(hewr 7

®)siTewme @ FBISL FEPewL. STV BTOHT F)(HEHEIMHI. Ceuuilsd FTLE M. HTeWID 6T6dT
GODUSEHTH Fhwsbel CUIAGDTD. BrissT sTispssr, Lphser, Warsdr, s,
YL g &6, LUTeD eummBIGSEmrid. FleGrerm eust 2 gai CHLSIMTeiT. Seu6dT (1 B (HL_6dT.
BTEYID 6Te &HDLSSTHD STaDETIT QeTed@nrd. SraupsTri £mLsr s Ly sdns.
SToINETTT FlhHLsoeril Lligssri. Gl @ ailGsom prsi.

A very basic story with little development. Simple and inaccurate vocabulary and there is no flow in the
writing.

sL_(hewr 8

£ o 6t GOOUSEHTH FHmSHEEL GUISH. P DT ETISHEMDET MTEIGSH. LNEATalsrT
s of ) SlellreTy ppeust 2 gai CGHLL 6. Bujb 2 61 &GHLUSST(HLD 6TesTer GCIFIUILTH6T.
sewLAulled eredTedr BLBBSH. Sjowr Lur &bsr L6railsrm sm of® el bHT
STUSDBIGET UTHBIGSMST. LIPLD 6T6T L, LLGTT &eiT Biismedl, el sewL_Fuilsy eresrewr
BLbSSH CUTH eedtT [Hujld sTedT GHBUSST(HLD 6TeoTedT GFUIFTH6T. BT LILIT LLeWSIT 6T65T
Sjeueumi.

Irrelevant piece of writing. It is meaningless.
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sL_(hewr 9

@)a YsSTHIPemID. HBH6T s HeVsV Fmieuest. jeuedt 2 a1 GHOHUSCHTH FHewsdEHHL
CUTHDTET. HeushT HTUIHVHMET UTHIGHDTET. FHleblTeiTm sphHoushi 2 _sall CFLL Slmmeir.
By 261 @B usSTH L mii FroadlG@Eprer. sevLFuilsd ojeusit afll_db@ Curslmmer.

No development of story, meaningless and disjointed writing.

sL_(hewr 10

Bl Fesllsalipein. GHWET B6& 55 STUSDGI. STHYI GEBGEH ofFSIngl. @)s @G UsTef
allQupewdm @H BIeT. 6TedT GlLIWIT GHBH6IT, TEUHEG WG LibGl. BTET HeV6VAIGT. HT6T 2 65T
GODUSCHTH FhewsdhE GUITESCDIID. Bresr waHlpFFwmit @) HEHHCmeir. er6iT HIDLI euwIg)
QM. 96Ut G\&HL L 6u6dr. sT6dT HLDLI GlLIWIT |(HOUEIT. 6T (LDLOMT HTIHMIHENET T HIGSBI DT
FleOlreitm phoust 2 gal CHLLOSDTET. SHaTTed jsust sph Grulli FAmieusit. BHrevruyid
2 & GHUSSHHLD HVHeV ettt FMEHCDTeT. HewL_Flullev eTedr Ll Liwwmit @)D TerT.
B)51 10P&ES (PIQUITS ([ BT6HT.

No development of story. Poor command of language. Irrelevant and meaningless.
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